We are so happy you chose d
hama product.

Enjoy using it!

aama <

220867



Ouick Installation Guide

Required tools
\§

Installation kit

O O

i

&€& wvioxy B (juw M8X12 (x4)
Mo () [ (mmmm  m8x20 (x4)
A3 M8x25 (x3) [ (jmmmmm  M8x30 (x4)
M8 (x3) M Gnmmmmmmm M8X50 (x4)
et BT L1
™ moe)y @ (x1)
B1| Mo/Ms (x4) [l <> (x4)
2 m8x10 (x4) [ @ (x2)
B3| ﬁ M8x20 (x4) —J w
(o Mex2(x4) @ ©—F )
Jummmm —— mox20 (x4) [ (x)

22
® Do you need
M more help?

[ Ican-8-

Scan OR or visit: www.hama.com
> Q & 00220867 % Downloads

é?) —~ E —

n Putf on rubber feet

I\

C1, C2, D1,
D2, D3, D4

E Assembling

Flat TV backside

Curved TV backside

Cl,D,D4 B C2,D2,D4 B B2
(o 4+ o + )+
D3,D4 B3
(o + E

E@A L
i /
=t | e %

E Adjustment

o~
» —1+30°




